Subtraction
32578 41060
-26459 -24689

830078
-728499

Name:

Date:
732444 730008
-326459 -729008

a) Population of France = 61,286,792
Population of Spain = 44,664,567

How many more people live in France than Spain?

and ninety six'?
Spreadsheets
A B
1 Month  Days Open
}2 Jan 6
3 Feb 19
4 March 20
5 April 20
6 May 18
7 June 17
8 July 19
9 August 20

Costs

$1289
$3914
$4567
$5009
$3970
$2856

$7750

Canteen information for 2005

5

Income

$2405
$7600
$8942
$9465
$4879
$5748
$9048

=
Profit
$1116
$3686

$4375

$2168
$115

b) How many more people does France need for a population of 100,000,000?

¢) What's the difference between 'three hundred and eighty six thousand, four
hundred and twelve'and ‘two hundred and ninety nine thousand, nine hundred

PROFIT =
Income - Costs

a) Profit is calculated by subtracting the ‘costs' from the ‘income’. Calculate the profit
for April, May and June then enter the results info the spreadsheet.

b) Calculate the 'costs' for July then enter the results into the spreadsheet.

c) Calculate the 'income' for August then enter the results into the spreadsheet.
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